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Geometry- Lesson 7-3 Notes
| Description Hypothes:s ' Conclusion
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Properties of Similarity:

Reflexive Property of Similarity: (Reflex. Prop of ~)
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Svmmetric Property of Similarity: (Sym. Prop of ~) iF AABCH ADEF ¢

Transitive Property of Similarity: (Trans. Prop of ~) i_f AABC~NADEF and ADEF ~AXYZE then

LABC ~AXYZ

Examples:
I. Explain why the triangles are similar and write a similarity statement.
B
C D LA = LD
A
: P E)n,A = LECD

AABC ~ A DEC
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2. Verily that the triangles are similar.

a. APQR and ASTU b. ADEF andA HJK
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4. Given: 3UT =5RT and 3VT =5ST
Prove: UVT ~ RST STATEMENTS '? RE RSONS
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4. AUVT ~ARST . SAS ~ (2,83)

5. Given: M is the midpoint of JK

JA STATEMENTS REASONGS
N is the midpoint of KL . M 1S MDPT of Tk . GIVEN

P is the midpoint of JL

Prove: AJKL ~ ANPM
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